Name Date

| ) Dividing 1t Up S

50 + 8 = ? Write a story and draw a picture for 50 + 8. Include any
remainder in your picture.

J Which Length Is Longer? N

1. Use a meterstick, bits, and skinnies to help you answer the
following. Remember, one bit is one centimeter (cm) long.
One skinny is 10 cm or 1 decimeter (dm) long.

Circle the measurement that is longer.

A. 2cmor 11 mm B. 32 mm or 3cm
C. 5dmor45cm D. 2mor 180 cm
E. 3 dm or 300 mm F. 87 cmor 8 dm

2. Choose one of the questions and explain your strategy for
solving it.
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